I — IR FE (ax+tby=c)

2x— 3y =15
2x+ 5y =23

6x+ 8y =62
Sx—4y =41

Tx— Ty =—-28
2x+ Ty =46

H 39 7

2
Tobx—6y=-24

Tx+ 6y =37
Y- ep=—42

Sx+2y=33
" 6x—3y =48

3+ 3y =33
Yosx-2y=4

8x+ 6y = 34
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It FER (ax+by=c)

2x— Ty =-28
2x— Ty =-28
x=17
y==06
2x—3y=15
2x+5y=23
x=9
y=1
6x+ 8y =62
Sx—4y =41
x=9
y=1
Tx— Ty =—28
2x+ Ty =46
x=2
y==06

8.

H 1.

6x— 6y =—-24
Tx + 6y = 37

x=1
y:

4x — 6y = —42
Sx+2y=33

x=3
y=9

6x — 3y =48
3x+3y=33

9
2

X
y

S5x=2y=4
8x+ 6y =34
2
3

X
y
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